H X BN O R OE$ (k234510 A 1 B BAE)

FEER RS HIX FRRRRLS X
Hh[X 4 QLR aa el Hi[X 4 JLRE 4 a Elcat i
% o | s | | & | #REK 7 | ke || B | & [#EK

1 B 793  918|  908| 1,826 4 1 4 40 A H 260  347|  346] 693

2| A (fE) 974| 1,166| 1,205| 2,371 44 IR 3 3 4 7

4 e 506| 531 534 1,065 45 JH/ | 112 99 82 181

5 Jbs e <F 345 466  443|  909| 45| 45 45 48 k= 388  436| 499 935

6 AH 236|  387| 351 738 49 RN 302  335|  369| 704

8| Al (fF) 344 382 410 792 50 LD HL 368 393 456| 849

10 P 206|  203| 216| 419 52 [iE)7238 434 503 529 1,032

11 B 53] NERE 445 446|  536| 982

14 _E 6 12 7 19 55 oo H 357 397|441 838

15| BAEHISE 1,220 1,529] 1,619| 3,148 56 R 259 273 323 596

16| FHERISE 990 1,373| 1,440 2,813 57 B i 170 199| 208 407

17 W2 375 381 448 829 58 —H 189 181 219 400

18 &7 R 322 413|422 835 59 N 197| 223 245|468

19 SR A 17 19 21 40 60| TG A 17T B 217 234 236 470

20 A B 1,202| 1,434| 1,387| 2,821| 114| 114 114 61| mE1TH 116 124 145 269

22 FyhF 827|  989| 1,084 2,073 62| wmHE2TH 153 187| 213 400

23 A 284 351 356 707 63| mHE3TH 196 206 239 445

24 HHN 887| 1,043| 1,115 2,158 64| mE4TH 72 91 86 177

25 VALl 65 /INRHHT 407 492  504| 996

27 oKW IA 267 281 347 628 66| HrnH 184 218 228 446

29|  FHEHAE 17 17 17 67 = 109 131 152 283

31 L 79 97 98 195 68| TG 27T B 219 256 272 528

33 KL 327| 383|425 808 69 JtEE 147 181 212 393

38 FoYAN 155 193 172| 365

9| AN E 143 198| 207 405 7t 15,826| 18,721| 19,759/ 38,480 163| 160 3| 163




HX BN O R O R 8 (F2pk234E10 A 1 H B17E)

FEFRoR X FJEZR R
AR OB T AR I HUEHHE
H1 X A4 QLIRS Hi1 X 44 QLR 28

% LG 0 = S B N “ O %~ % | S| | & [ RE
311 BHB1ITH 506| 511|  500| 1,011 16| 16 16| [391| #AFITH 450 485| 474 959
312| %2 TH 181 214 218 432 392| 2T H 103|112 107 219
321 ME1ITH 386 372 391|763 393 W31 H
329| fE2TH 664 672 710| 1,382 411 KRE1TH 375 410 431 841
323| ME3TH 440 494 490 984 412| KM2TH 365 421 469 890
331 BAMI1TH 565  534| 525 1,059 30| 30 30{ |413] AM3TH 279  280| 280 560
332 BAHZ2TH 408| 433|456 889 414 A4 TH 414 424 426 850
333| BAM3TH 404 371 395 766 431 WE/HTTT H 399 457|491 948
334| BAH4TH 631|  663|  794| 1,457 439| WE/HT2T H 848  964| 1,061| 2,025
341 R#1TH 763|  757|  777| 1,534| 66| 66 66| | 440 kS 652|  749|  784| 1,533
342| RMH2T H 296 362 353 715 2 2 2| | 451 EFW1TH 455 516 567| 1,083
343 R#3TH 402| 471|486 957 452| EFIR2TH 258  256| 313|569
344| R4 TH 293 300 349 649 461 —XCE1TH 814| 1,032 1,057| 2,089
345 RK#5TH 389  394| 482 876 462| —3XH&E2 T H 639  735|  759| 1,494
351 KM1TH 924| 895  985| 1,880 4711 AHITH 46 53 65| 118
350 EM2TH 916  842| 963| 1,805 472 AH2TH 209  274| 275 549
353 KM3TH 716| 741|794 1,535 9| 6| 3| 9| |473] S HS3TH 175 224 224 448
361 RAE1T H 289 288 232 520 87| 76| 11| 87| |474| S H4TH 306 438 465 903
362| HAHEZ2TH 392| 446|470 916 475 AH5TH 270 332 359 691
370 o5 7 < 576 637|623 1,260 25| 25 1| 26
381] AH1TH 195 285 245 530
382| AH2TH 703| 1,010{ 988 1,998 = 18,393| 20,225| 21,168| 41,393| 235 221| 15| 236
383 AH3TH 297| 371|335 706 N 34,219 38,946| 40,927| 79,873| 398| 381| 18| 399




